
Minusrechnen (bis 50 000)

Aufgabe 1

1. 36 719 - 13 297 =   

2. 30 172 - 24 228 =   

3. 40 450 - 33 562 =   

4. 11 781 - 10 350 =   

5. 40 458 - 33 221 =   

6. 21 311 - 11 626 =   

7. 36 332 - 25 623 =   

8. 43 314 - 34 146 =   

9. 47 361 - 24 652 =   

10. 47 702 - 43 080 =   

Aufgabe 2

1. 34 908 - 23 572 =   

2. 47 163 - 39 634 =   

3. 49 741 - 12 856 =   

4. 36 427 - 8 579 =   

5. 42 868 - 11 560 =   

6. 42 335 - 19 665 =   

7. 44 578 - 21 699 =   

8. 44 415 - 14 763 =   

9. 25 746 - 21 402 =   

10. 18 029 - 16 097 =   

Aufgabe 3

1. 42 042 - 10 185 =   

2. 47 663 - 19 472 =   

3. 32 656 - 7 898 =   

4. 38 658 - 7 075 =   

5. 25 280 - 5 721 =   

6. 26 265 - 25 248 =   

7. 48 209 - 26 015 =   

8. 48 506 - 24 333 =   

9. 46 837 - 34 426 =   

10. 46 900 - 43 733 =   

Aufgabe 4

1. 33 176 - 29 676 =   

2. 36 088 - 35 574 =   

3. 49 543 - 44 160 =   

4. 34 749 - 24 690 =   

5. 45 476 - 30 960 =   

6. 49 715 - 24 162 =   

7. 42 197 - 31 194 =   

8. 31 001 - 19 490 =   

9. 29 918 - 7 691 =   

10. 6 885 - 5 427 =   
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Minusrechnen (bis 50 000)
| ANTWORTEN

Aufgabe 1

1. 36 719 - 13 297 =  23 422

2. 30 172 - 24 228 =  5 944

3. 40 450 - 33 562 =  6 888

4. 11 781 - 10 350 =  1 431

5. 40 458 - 33 221 =  7 237

6. 21 311 - 11 626 =  9 685

7. 36 332 - 25 623 =  10 709

8. 43 314 - 34 146 =  9 168

9. 47 361 - 24 652 =  22 709

10. 47 702 - 43 080 =  4 622

Aufgabe 2

1. 34 908 - 23 572 =  11 336

2. 47 163 - 39 634 =  7 529

3. 49 741 - 12 856 =  36 885

4. 36 427 - 8 579 =  27 848

5. 42 868 - 11 560 =  31 308

6. 42 335 - 19 665 =  22 670

7. 44 578 - 21 699 =  22 879

8. 44 415 - 14 763 =  29 652

9. 25 746 - 21 402 =  4 344

10. 18 029 - 16 097 =  1 932

Aufgabe 3

1. 42 042 - 10 185 =  31 857

2. 47 663 - 19 472 =  28 191

3. 32 656 - 7 898 =  24 758

4. 38 658 - 7 075 =  31 583

5. 25 280 - 5 721 =  19 559

6. 26 265 - 25 248 =  1 017

7. 48 209 - 26 015 =  22 194

8. 48 506 - 24 333 =  24 173

9. 46 837 - 34 426 =  12 411

10. 46 900 - 43 733 =  3 167

Aufgabe 4

1. 33 176 - 29 676 =  3 500

2. 36 088 - 35 574 =  514

3. 49 543 - 44 160 =  5 383

4. 34 749 - 24 690 =  10 059

5. 45 476 - 30 960 =  14 516

6. 49 715 - 24 162 =  25 553

7. 42 197 - 31 194 =  11 003

8. 31 001 - 19 490 =  11 511

9. 29 918 - 7 691 =  22 227

10. 6 885 - 5 427 =  1 458
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